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it penbur i ”ﬁm:[mm; mZM\’IN;: fr}m :::::gmom (if) Write your name (in full) and registration
' TIARC ., 1 - nlan ﬂﬂ}'ﬂ' " i off 4, 1/
f::ﬁ:f: ifr:f’v:i ((T':):) ‘;:.-;;;'7 ’;I::‘,f;nllnm'ﬂx assignments i your mantal 1o your respective lecturers on/before
16/05/2016 [pg 6 mos 2 & 4:pg 17 wo 1; pg 20 no 1 & 4; PR o e o CA = 677", Construct the
{{a) Construct triangle ABC such that BC = 75¢m, <ABC = 33/ ‘und <li . Wrib,. L;rclh. L
circamscribing circle of the triangle. Measure the diamctcr.nf the Llrt::'";;s" 75 ; m.j- teg .
scale of chords showing §” divisions mid with its aid, set off angles 15,33, 75 a '

A boy plays a ball (P) around these posts such that the sum of the

g "W s A and B arc 2m apart. P
) FU0 DUEN e S i .§m. Trace the locus of P using any method.

distance of the ball from A and B is always equal to 2
[Use a scale of 1:2]. ; .

: g i and covers 7€ C . Construct
(b) A stone thrown up in the air reaches a maximum height of 8 m and covers a rar?é'c, f 6 m ;*) struct
. « = B & S 10 - ¥ “fa - :",.:;"‘.lr
the path traced out by the stone assuming it to be parabolic, using the circumscribing rectangle method

3 Construct a hexagon of side 40 mm, then construct six circles outside the hexagon, each touching one
side of the hexagon externally and two other circles. "

O\

4{a) Divide a line of 100 mm in the ratio of 2:3:4:5 L ‘\] &
{(b) Two circles of diameters 60 mm and 30 mm, have center distani ém," 5 mm. Construct circles and a
straight line parallel to, and at distance of 90 mm to their cer{e"’r

& b2

o
5 InFigure 1. the cranks AO and BQ revolve in oppositesdirections at the same (" —io-
speed, and are joined by the rods AC and BCP. Rlowthelocus of P for one
revolution of the cranks, if AO and BQ are 25.mrii:eﬁfa-€«—‘?125mm, =
20mm and OQ = 75mm. ;

SOLUTION TO205/201¢

il To get 6-’;5"0,3(1?”5&#(& angle 135°then bisedk (£ Lo aqel 67%°
l!} T% 99& ja 33”%‘;_«54?,& °”‘9T§ VUL e 9& q

Diomebe of inscribe circde = @32
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Scale Sivm J.‘:QD
Am = 2X100ewm = 200
19 2:5M= L 5X100cwW = 250¢m
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Using Scale 1120 as given In Q24

B = XM = BOOCM |
= FEhomx | = Lhoom |

Gz EX 1000 = 6(3(}(“4{2,‘5 f

= podMx :3O£M§
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g»:ul SPAN ixs 30cm. Guk 1k is
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Let [ewm = 2mm
> . \ |
b | oy I low = 2w, LeOewctmm
C : L OTM = Xnim lewe |
60 ~ EOMW
= S .-

If lewn = 2mm
300 = me_—;)_@_Ole_:_w?_(_%_M,

= GOwMmM
50 our RISE=20 and SPAN = 60

Q3

20 16 past questions and answers update




(15

QUESTION NO-3! SAME AS 2013201 Q4
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